
8/26/Calc
&uiz I

17
1
. y=3 , z

= 1

(2)*
n
L

&2+ z2= 7 , y = 5
z Z

-

r



2
, (a)

(x-3) + (y - y)+ (z-52= 49

(k)

F
Linti
&st)(34 , 7 ,5) , (0 ,0 , 07) 7 = Eg

1

&

22+5 =G+ Fr
outside
-

Last Nue dot product
-

T



Zio
, 200=
T

Ext (2) We found that

on what cube
,
two diagands

meet at 600

# equilateral

* in

L = 600

St
Z

fut angle
between·and lang
edge ofabe

diag and



i = [0
,
0
, 17

I = 4
,

1
,
17

E- J ↓ I↓cost= Ital
=

I . 5 5

-= cost o

Special-case :

Del 8 = 90% cost = 0

a: =0I
#

dicular (arthogaperpen

Ex p = (0 , 0 , 0) ↳Q = (0 , 1 , 0)
e= 11

,
2
,2)



Is SQR right I ?
acute DY
obtuse I?

FQ = 20 , 1 ,0

Pr =( 1 ,
3
,
2) Bat

Gr = <1 , 1 .2)

LQPM is E =:Paller
- = cos12 (a-1 , 0)
-

< PQR QP. QR
Cros= TaPQR

=-
-8

I . T

So 0 > 900

So A is use.



prection:
- I
Ent T wit se trat

= it r

#04In
Gl : write i= w

will I( wet
&

-

w = Project
How to compute it ? f
Picture : (ii) = (v) cost
duratio of in is



So, In tE
- WiPursu D
=


